[d° sum p_/dndg[GeV]

Ratio to ATLAS

T

N

S*J
&

w

N
ol

1.5

0.5

[EEY

0.5

900 GeV p Underlying Event

I I | I I I | I I I | I I | I J_ ﬂ
— c
- O]
N Average Z(p ) vs p'TeaOI (Nl <25, p_>0.1GeV) 13
— X<
— —Ho
—  m ATLAS —3
- ¢ Sherpa 1.2.3 default s
- —
N 1o
- —
B o
- 1.z
B e
- : - g
_ A 4%
N -
- vl = 03
- e ke
N oy J1g
~ g &
N o e
B m® e

L c
- » 15
- " 18
C m" g
W _ _g
— - O
_I | | | | | | | | | | | | | | | | | |_ E
- ! ! ! ! =
— =2
& .. T o ’ ‘ ’ 1
| —0.5
| | 1 1 1 | 1 1 1 | 1 1 1 |
2 4 6 8 10

P, (leading track) [GeV]



	Contents
	Page 1


